Principles of Algebra
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Name/Date C (€Z ( ( OdA\/
ALL PROBLEMS CAN BE COMPLETED ON THIS WORKSHEET

WS 3C.1 ~ Solving Equations with the Variable on Both Sides

#1-10, Solve each equation.

1. 3(2d-7) =2 +4d)2
ed -2l = 4 +%d
- -~ %d

-dd -1 = 4

-d = 25

)
4= "3

2.

4-(2x-3)=3(x—-6)
H-Qx +3=3x -5

?"Q’X = S’X"'g
- 3x - 3%

? -5% -138
-Sx =+-1S§
x:=5

"

3. 5(m—-7)=2(2-2n)-3
5n-35 =4 -4n -3
Sn-3S = | - Un

+l{n +Yn
In - 35 = |
In = 306

n=4

"

i1

4.

22 +3(a+6) = —4(3a+5)

5. 8z+2(3+2z) = 3(6 + 22)

G246 +Yz = [T+ 62

Az +6 = 18 + 62
-6z - b2
ez + 6 = 1%
bz = 13
Z =2

6.

A2+ 34419 = -lda -~ Q0

4o + 3 = -2a -0
+ [ + a4

qdo + 154 = =0

(B4 = =60
o = -4

4w + 6 — 2w = 3(6 + 2w)

w +6 ~dw = (% + ow
dw +b = |9 + bw
-bw ~ow

-dw + 6 = I%
~Yw =12

w=-3




7. —1.5(2d +4) = 2(3.5 + 4d) — 2 8. 9(y+1)+6=2(y+3)
-3d -6 = F+%d -2 Qy+0 + 6= Ay + 6
-3 -6 = 5 +%d Iy +#15 =y +6
- $d ~%d -3y —ay
-d -6 =5 Py HI5 = ¢
‘“d = L 4Y = -q
d < -\ Y: “_%_
9. —2g+4(4+g)=2g—-4(6-3g9) 10. 4z+3(z+1)=-22(3z-5)
-2+ 16+ Ug = 29 -24 + 134 z +32 +3 = -bba + 110
Ay +16 = 144 -2u Ze ¢3 = -662 + 0
- 143 - 144 +6b32 o6z
-124 +16 = -4 13z «3 = [lo
-1dg = 4o 73z = lo?
= gﬁ :-(1 - lO?
9" 12 =473 7

11. The perimeters of the two figures shown are equal. Find the value of n and the perimeter of the shapes.

Iy~ 5 4{(&(:-5) = 2(‘1n~l?)+2(n+3)
- R=4(3n-3)  §n -20 = Bn -3Y +2n +{
-0 = 2n - A%

¥ = dn

=n =>|n=4

Perimeters = ‘-I(R-Q—S) = 4(3)
k=2 (Un-13) + 2(n+3) | Perimeters = [ units| Srmmivmnm, -

4n — 17

n+3




